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@ Evaluate: Homework and Practice

Usea graphing calculator to graph the polynomial functon, Then use
the graph to determine th function’s domain, range, and end behavior.
(U interval notaion for the domain and range.)
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Domain: (o0, +oc)

Range: (o0, +o0)

End behavior:Asx — 0, (1) = + oc. End behavior:As x — 400, fix) = —ox.
Asx = o0, f0) = —oc. s o, 9 — oo

3 q=e

Domain: (o0, +oc)

Ranges[0,+20)
Enbehavior e+, 18) 425, Endbehavio s 420,1) .
Rx o o0 — 20 Rex oo, 09 — 0.

s rapbin o o gapshe uncton. Then s he raph o deermine he

umber of tarniag poiats and the mumber and type (global, o localbut no global) of
any maximum or minimum valucs.

s p=aler )3 6 f = (et Ve e
‘The graph has two turning points. ‘The graph has three turning points.
“The function has one local maximum The function has one local maximum
value and one local minimum value. value, one global minimum value, and

‘one local minimum value.
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The graph hastwo turning ponts. The graph has ane tuning pint.
The unction has ane local maximar Th functon has one lobal

value and one local minimum value. maximum value.
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‘Sketch the graph the polynomial function.

9. Jo=rlx=2)
x40, 1) — 0. A x = —00, 1) — —oc.
y The xintercepts are
Interval Sign of fx)
. x<o -
R i o<x<2 -
2 +
o the graph of (x) s above the xaxis
ontheinterval x > 2, andits below
the x-axis on the inrvals x < 0 and 0 < x < 2
1S9 =t == 3) Rax— +20, 1) — o0, R x = —,f) — +26.
. The xintercepts are x 2andx=3.
Interv:
. x< -
ep=ar T Ciax<2 -
2<x<3 +
>3 -

So the graph of (x) s above the xaxis
ontheintervals x < —1and 2 <x <3,
andits below the x-axi on the intervals
Si<x<2andx>3.
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So, the graph of f(x is above the x-axis
onthe ntervals x < —2, ~2 < x<0,
and x> 1, it below the xaxis onthe.
intervals0 < x < 1.




